Snowy River Project

1. A major problem for Australia’s interior region is:


(a) the kangaroo  (b) crocodiles  (c) drought  (d) the Snowy River

2. The Snowy River flows:


(a) inland  (b) north  (c) south  (d) toward the sea

3. The project took 25 years to build and required 16 dams and how many power stations?


(a) 3  (b) 7  (c) 121  (d) There were no power stations.

4. The ‘Man From Snowy River’ was a great Disney movie and:

(a) a famous Australian ballad  (b) a ballad about the Autralian Outback  (c) a ballad about the builders of the Snowy River Project  (d) the ballad of Davy Crockett

5. The water from the first dam was first:

(a) sent downhill  (b) used for irrigation  (c) sent into a mountain  (d) sent through a power plant 

6. What kind of rock did the tunnels have to drill through?


(a) shale  (b) granite  (c) sandstone  (d) limestone

7. How does water generate hydroelectric power?

8. Did you think the working conditions in the 1950’s and 1960’s were safe?

9. (True/False) Today there are many water projects as complicated as the Snowy River Project.

10. What per cent of the Snowy River water is actually released back into the Snowy River?


(a) 1%  (b) 25%  (c) 50%  (d) 75%  (e) none

